Y\A

= feasible path

|
‘k(“): o\o\q‘w\(,l uhﬁ\‘\ry SJH\H\'»/\qu-\
k with n Spaces

shane

\
avallalole

narn f_(u\re’cyom«""«“u ‘
»

Y Xs =0, Ve

noy pee r:w\?\) L=

Pﬂv’r\r‘\ corfe 5])0 yw[u-/\ ’

-

J

to X5 = I) n.e.

' ' ) | o ¢ » S 3
\ TGALR(/CVS Y(‘/‘/W%{?/\\.&t ™y
\ 0 ) J
‘,\\‘ Tree {;i,t\((rc! \,,\4)
1y Iy 1y Wy ? Lo We =3 umibs,
o ' —9 —— g ———— e
5' \ \ de\ Odd S
e =8 to v,;[fk\'|~9|
] \
‘ CRE T R A R T
8 8 1 g X1 0
3 — v —y | ——Y-*—w*~———-i
6 [
2 "“” "‘"b A 4 \ —X ‘ ‘g"—‘“‘ L 0
| o
| £‘9’ '{7777—— —)v,-o—y« S - —-——F“-—*; - -
‘ \ |
|
I i 3 o 5 6 Kk
M = | A = ?)J =2 =
) 1 2 (/UL, Z (’Ug:z
A U, Wy=5 Mu=0 Us =
n-=— N:g =) 0?\\%’\&‘\ 5/(\'- (O,l) ) \)\3 = ()\J\"\W\Q{ valw e = 2\

J



